APPROXIMATION OF SOLUTIONS OF THE FORCED DUFFING EQUATION WITH *m*-POINT BOUNDARY CONDITIONS

BASHIR AHMAD

Department of Mathematics, Faculty of Science, King Abdulaziz University P.O. Box. 80203, Jeddah 21589, Saudi Arabia *E-mail:* bashir_qau@yahoo.com

ABSTRACT. In this paper, we discuss the existence and uniqueness of the solution of the forced Duffing equation with *m*-point boundary conditions. A monotone sequence of approximate solutions converging uniformly and quadratically to the unique solution of the problem is obtained by applying a generalized quasilinearization technique.

AMS (MOS) Subject Classification. 34B10, 34B15.

1. INTRODUCTION

Duffing equation is a well known nonlinear equation of applied science which is used as a powerful tool to discuss some important practical phenomena such as periodic orbit extraction, nonuniformity caused by an infinite domain, nonlinear mechanical oscillators, etc. Another important application of Duffing equation is in the field of the prediction of diseases. A careful measurement and analysis of a strongly chaotic voice has the potential to serve as an early warning system for more serious chaos and possible onset of disease. This chaos is stimulated with the help of Duffing equation. In fact, the success at analyzing and predicting the onset of chaos in speech and its simulation by equations such as the Duffing equation has enhanced the hope that we might be able to predict the onset of arrhythmia and heart attacks someday. However, such predictions are based on the numerical solutions of the Duffing equation.

The monotone iterative technique coupled with the method of upper and lower solutions [1-7] manifests itself as an effective and flexible mechanism that offers theoretical as well as constructive existence results in a closed set, generated by the lower and upper solutions. In general, the convergence of the sequence of approximate solutions given by the monotone iterative technique is at most linear [8, 9]. To obtain a sequence of approximate solutions converging quadratically, we use the method of quasilinearization [10]. This method has been developed for a variety of problems

[11–20]. In view of its diverse applications, this approach is quite an elegant and easier for application algorithms.

The subject of multi-point nonlocal boundary value problems, initiated by Ilin and Moiseev [21,22], has been addressed by many authors, for instance, [23–30]. The multi-point boundary conditions appear in certain problems of thermodynamics, elasticity and wave propagation, see [31] and the references therein. The multi-point boundary conditions may be understood in the sense that the controllers at the end points dissipate or add energy according to censors located at intermediate positions. To the best of our knowledge, the method of quasilinearization has not been developed for Duffing equation with multi-point boundary conditions.

In this paper, we apply a quasilinearization technique to obtain the analytic approximation of the solution of the forced Duffing equation with *m*-point boundary conditions. In fact, a sequence of approximate solutions converging monotonically and quadratically to the unique solution of the problem is presented. The results obtained in this paper offer an algorithm to study the various practical phenomena such as prediction of the possible onset of vascular diseases, onset of chaos in speech, etc.

2. PRELIMINARIES

Consider the following boundary value problem

$$\begin{cases} u''(t) + \sigma u'(t) + f(t, u) = 0, \ 0 < t < 1, \ \sigma \in \mathbb{R} - \{0\}, \\ u(0) - \mu_1 u'(0) = \sum_{i=1}^{m-2} p_i u(\eta_i), \ u(1) + \mu_2 u'(1) = \sum_{i=1}^{m-2} q_i u(\eta_i), \end{cases}$$
(1.1)

where $f: [0,1] \times \mathbb{R} \to \mathbb{R}$, p_i, q_i (i = 1, 2, ..., m-2) are nonnegative real constants such that $\sum_{i=1}^{m-2} p_i < 1$, $\sum_{i=1}^{m-2} q_i < 1$, $\eta_i \in (0,1)$, and μ_1, μ_2 are nonnegative constants. It can easily be verified that the homogeneous problem associated with (1.1) has only the trivial solution. Therefore, by Green's function method, the solution of (1.1) can be written as

$$u(t) = \frac{-(1 - \sigma\mu_2)e^{-\sigma} + e^{-\sigma t}}{(1 + \sigma\mu_1) - (1 - \sigma\mu_2)e^{-\sigma}} (\sum_{i=1}^{m-2} p_i u(\eta_i)) + \frac{(1 + \sigma\mu_1) - e^{-\sigma t}}{(1 + \sigma\mu_1) - (1 - \sigma\mu_2)e^{-\sigma}} (\sum_{i=1}^{m-2} q_i u(\eta_i)) + \int_0^1 G(t, s) f(s, u(s)) ds,$$

where

$$G(t,s) = \Lambda \begin{cases} [(1 - \sigma\mu_2) - e^{\sigma(1-s)}][(1 + \sigma\mu_1) - e^{-\sigma t}], & 0 \le t \le s, \\ [(1 - \sigma\mu_2) - e^{\sigma(1-t)}][(1 + \sigma\mu_1) - e^{-\sigma s}], & s \le t \le 1, \\ \Lambda = \frac{e^{\sigma s}}{\sigma[(1 - \sigma\mu_2) - (1 + \sigma\mu_1)e^{\sigma}]}. \end{cases}$$

We note that G(t, s) > 0 on $(0, 1) \times (0, 1)$.

Definition 2.1. A function $\alpha \in C^2[0,1]$ is a lower solution of (1.1) if

$$\begin{cases} \alpha''(t) + \sigma \alpha'(t) + f(t, \alpha(t)) \ge 0, \ 0 < t < 1, \\ \alpha(0) - \mu_1 \alpha'(0) \le \sum_{i=1}^{m-2} p_i \alpha(\eta_i), \qquad \alpha(1) + \mu_2 \alpha'(1) \le \sum_{i=1}^{m-2} q_i \alpha(\eta_i). \end{cases}$$

Similarly, $\beta \in C^2[0, 1]$ is an upper solution of (1.1) if the inequalities in the definition of lower solution are reversed.

Theorem 2.1. Let α and β be lower and upper solutions of the boundary value problem (1.1) respectively. Let $f : [0,1] \times \mathbb{R} \to \mathbb{R}$ be such that $f_u(t,u) < 0$. Then $\alpha(t) \leq \beta(t), t \in [0,1]$.

Proof. Set $x(t) = \alpha(t) - \beta(t), t \in [0, 1]$ so that

$$\begin{cases} x(0) - \mu_1 x'(0) \le \sum_{i=1}^{m-2} p_i x(\eta_i) \\ x(1) + \mu_2 x'(1) \le \sum_{i=1}^{m-2} q_i x(\eta_i). \end{cases}$$
(2.2)

For the sake of contradiction, suppose that x(t) > 0 for every $t \in [0, 1]$. Then x(t) has a positive maximum at some $t_0 \in [0, 1]$. If $t_0 \in (0, 1)$, then $x(t_0) > 0$, $x'(t_0) = 0$ and $x''(t_0) \leq 0$. In view of the decreasing property of the function f(t, u) in u, it follows that

$$x''(t_0) + \sigma x'(t_0) = \alpha''(t_0) + \sigma \alpha'(t_0) - (\beta''(t_0) + \sigma \beta'(t_0)) \ge -f(t_0, \alpha(t_0)) + f(t_0, \beta(t_0)) > 0,$$

which is a contradiction. If $t_0 = 0$, then x(0) > 0, x'(0) = 0 and from (2.2), we obtain

$$x(0) = x(0) - \mu_1 x'(0) \le \sum_{i=1}^{m-2} p_i x(\eta_i) \le \sum_{i=1}^{m-2} p_i x(0),$$

that is, $\left(1 - \sum_{i=1}^{m-2} p_i\right) x(0) \leq 0$ which contradicts the assumption that $\sum_{i=1}^{m-2} p_i < 1$. We have a similar contradiction at $t_0 = 1$. Hence our claim that x(t) > 0 for every $t \in [0, 1]$ is false. Thus, we can find $t_1 \in [0, 1]$ such that $x(t_1) \leq 0$ with $t_0 < t_1$ (the case $t_0 > t_1$ is similar) and there exists $t_2 \in (t_0, t_1)$ such that $x(t_2) = 0$ and x(t) > 0 for every $t \in [t_0, t_2)$. Then, using the assumption that f(t, u) is strictly decreasing in u, we find that

$$x''(t) + \sigma x'(t) \ge -f(t, \alpha(t)) + f(t, \beta(t)) > 0,$$

which can alternatively be written as $(x'(t)e^{\sigma t})' > 0$. Integrating from t_0 to t, and using $x'(t_0) = 0$, we obtain x'(t) > 0 for every $t \in [t_0, t_2)$ which together with $x'(t_0) = 0$ implies that $x'(t) \ge 0$ for every $t \in [t_0, t_2)$. Thus, x(t) is nondecreasing on $[t_0, t_2)$ which is a contradiction as x(t) has a positive maximum value at $t = t_0$. Similar contradiction occurs at $t_0 = 0, 1$. Thus, we conclude that $\alpha(t) \le \beta(t), t \in [0, 1]$. **Theorem 2.2.** Let $f : [0,1] \times \mathbb{R} \to \mathbb{R}$ be a continuous function with $f_u(t,u) < 0$, and α , β are respectively lower and upper solutions of the boundary value problem (1.1) such that $\alpha(t) \leq \beta(t)$. Then there exists a solution u(t) of (1.1) such that $\alpha(t) \leq u(t) \leq \beta(t), t \in [0,1].$

Proof. Let us define

$$F(t,u) = \begin{cases} f(t,\beta(t)) - \frac{u-\beta(t)}{1+|u-\beta|}, & \text{if } u > \beta, \\ f(t,u), & \text{if } \alpha \le u \le \beta, \\ f(t,\alpha(t)) - \frac{u-\alpha(t)}{1+|u-\alpha|}, & \text{if } u < \alpha. \end{cases}$$

Since F(t, u) is continuous and bounded, it follows that there exists a solution u(t) of the problem

$$\begin{cases} u''(t) + \sigma u'(t) + F(t, u) = 0, \ 0 < t < 1, \\ u(0) - \mu_1 u'(0) = \sum_{i=1}^{m-2} p_i u(\eta_i), \quad u(1) + \mu_2 u'(1) = \sum_{i=1}^{m-2} q_i u(\eta_i). \end{cases}$$
(2.3)

In relation to (2.3), we have

$$\begin{cases} \alpha''(t) + \sigma \alpha'(t) + F(t, \alpha(t)) = \alpha''(t) + \sigma \alpha'(t) + f(t, \alpha(t)) \ge 0, \ 0 < t < 1, \\ \alpha(0) - \mu_1 \alpha'(0) = \sum_{i=1}^{m-2} p_i \alpha(\eta_i), \quad \alpha(1) + \mu_2 \alpha'(1) = \sum_{i=1}^{m-2} q_i \alpha(\eta_i) \end{cases}$$

and

$$\begin{cases} \beta''(t) + \sigma\beta'(t) + F(t,\beta(t)) = \beta''(t) + \sigma\beta'(t) + f(t,\beta(t)) \le 0, \quad 0 < t < 1, \\ \beta(0) - \mu_1\beta'(0) = \sum_{i=1}^{m-2} p_i\beta(\eta_i), \quad \beta(1) + \mu_2\beta'(1) = \sum_{i=1}^{m-2} q_i\beta(\eta_i), \end{cases}$$

which imply that α and β are lower and upper solutions of (2.3) respectively. By definition of F(t, u), it follows that any solution $u \in [\alpha, \beta]$ of (2.3) is indeed a solution of (1.1). Thus, we just need to show that any solution u(t) of (2.3) satisfies $\alpha(t) \leq$ $u(t) \leq \beta(t), t \in [0, 1]$. Let us assume that $\alpha(t) > u(t)$ on [0, 1]. Then the function $y(t) = \alpha(t) - u(t)$ has a positive maximum at some $t = t_0 \in [0, 1]$. If $t_0 \in (0, 1)$, then $y(t_0) > 0, y'(t_0) = 0, y''(t_0) \leq 0$. On the other hand,

$$y''(t_0) + \sigma y'(t_0) = \alpha''(t_0) + \sigma \alpha'(t_0) - [u''(t_0) + \sigma u'(t_0)]$$

$$\geq -F(t_0, \alpha(t_0)) + F(t_0, u(t_0))$$

$$= -f(t_0, \alpha(t_0)) + f(t_0, \alpha(t_0)) - \frac{u - \alpha(t_0)}{1 + |u - \alpha_0|} > 0$$

which contradicts our assumption. If $t_0 = 0$, then y(0) > 0, y'(0) = 0 and

$$y(0) = y(0) - \mu_1 y'(0) \le \sum_{i=1}^{m-2} p_i y(\eta_i) \le \sum_{i=1}^{m-2} p_i y(0),$$

that is, $\left(1 - \sum_{i=1}^{m-2} p_i\right) y(0) \leq 0$ which contradicts the assumption that $\sum_{i=1}^{m-2} p_i < 1$. Similarly, $t_0 = 1$ yields a contradiction. As in the proof of Theorem 2.1, we also obtain the contradiction in the neighbourhood of the point $t_0 \in [0, 1]$. Thus, $\alpha(t) \leq u(t)$, $t \in [0, 1]$. In a similar manner, it can be shown that $u(t) \leq \beta(t)$, $t \in [0, 1]$. Hence we conclude that $\alpha(t) \leq u(t) \leq \beta(t)$, $t \in [0, 1]$.

Corollary 2.3. Assume that $f : [0,1] \times \mathbb{R} \to \mathbb{R}$ is continuous with $f_u(t,u) < 0$ on $[0,1] \times \mathbb{R}$. Then the solution of boundary value problem (1.1) is unique.

3. MAIN RESULT

Theorem 3.1. Assume that

- (A₁) $\alpha, \beta \in C^2[0, 1]$ are respectively lower and upper solutions of (1.1) such that $\alpha(t) \leq \beta(t), t \in [0, 1];$
- (A₂) $f \in C^2([0,1] \times \mathbb{R})$ be such that $f_u(t,u) < 0$ and $(f_{uu}(t,u) + \phi_{uu}(t,u)) \ge 0$, where $\phi_{uu}(t,u) \ge 0$ for some continuous function $\phi(t,u)$ on $[0,1] \times \mathbb{R}$.

Then, there exists a sequence $\{\alpha_n\}$ of approximate solutions converging monotonically and quadratically to the unique solution of the problem (1.1).

Proof. Let $F : [0,1] \times \mathbb{R} \to \mathbb{R}$ be defined by $F(t,u) = f(t,u) + \phi(t,u)$ so that $F_{uu}(t,u) \geq 0$. Using the generalized mean value theorem together with (A_2) , we obtain

$$f(t,u) \ge f(t,v) + F_u(t,v)(u-v) + \phi(t,v) - \phi(t,u).$$
(3.1)

Setting

$$g(t, u, v) = f(t, v) + F_u(t, v)(u - v) + \phi(t, v) - \phi(t, u),$$
(3.2)

we note that $g_u(t, u, v) = [F_u(t, v) - \phi_u(t, u)] \le [F_u(t, u) - \phi_u(t, u)] = f_u(t, u) < 0$ and

$$\begin{cases} f(t, u) \ge g(t, u, v), \\ f(t, u) = g(t, u, u). \end{cases}$$
(3.3)

Now, we fix $\alpha_0 = \alpha$ and consider the problem

$$\begin{cases} u''(t) + \sigma u'(t) + g(t, u, \alpha_0) = 0, \ 0 < t < 1, \\ u(0) - \mu_1 u'(0) = \sum_{i=1}^{m-2} p_i u(\eta_i), \quad u(1) + \mu_2 u'(1) = \sum_{i=1}^{m-2} q_i u(\eta_i). \end{cases}$$
(3.4)

Using (A_1) and (3.3), we obtain

$$\begin{aligned}
\alpha_0''(t) + \sigma \alpha_0'(t) + g(t, \alpha_0, \alpha_0) &= \alpha_0''(t) + \sigma \alpha_0'(t) + f(t, \alpha_0) \ge 0, \quad 0 < t < 1, \\
\alpha(0) - \mu_1 \alpha'(0) &\le \sum_{i=1}^{m-2} p_i \alpha(\eta_i), \quad \alpha(1) + \mu_2 \alpha'(1) \le \sum_{i=1}^{m-2} q_i \alpha(\eta_i)
\end{aligned}$$

and

$$\begin{cases} \beta''(t) + \sigma\beta'(t) + g(t, \beta, \alpha_0) \le \beta''(t) + \sigma\beta'(t) + f(t, \beta) \le 0, \quad 0 < t < 1, \\ \beta(0) - \mu_1\beta'(0) = \sum_{i=1}^{m-2} p_i\beta(\eta_i), \quad \beta(1) + \mu_2\beta'(1) = \sum_{i=1}^{m-2} q_i\beta(\eta_i), \end{cases}$$

which imply that α_0 and β are respectively lower and upper solutions of (3.4). It follows by Theorems 2.1 and 2.2 that there exists a unique solution α_1 of (3.4) such that

$$\alpha_0(t) \le \alpha_1(t) \le \beta(t), \quad t \in [0, 1].$$

Next, we consider

$$\begin{cases} u''(t) + \sigma u'(t) + g(t, u, \alpha_1) = 0, \quad 0 < t < 1, \\ u(0) - \mu_1 u'(0) = \sum_{i=1}^{m-2} p_i u(\eta_i), \quad u(1) + \mu_2 u'(1) = \sum_{i=1}^{m-2} q_i u(\eta_i). \end{cases}$$
(3.5)

Using the earlier arguments, it can be shown that α_1 and β are lower and upper solutions of (3.5) respectively and hence by Theorems 2.1 and 2.2, there exists a unique solution α_2 of (3.5) such that $\alpha_1(t) \leq \alpha_2(t) \leq \beta(t), t \in [0, 1]$.

Continuing this process successively yields a sequence $\{\alpha_n\}$ of solutions satisfying

$$\alpha_0(t) \le \alpha_1(t) \le \alpha_2(t) \le \dots \le \alpha_n \le \beta(t), \quad t \in [0, 1],$$

where the element α_n of the sequence $\{\alpha_n\}$ is a solution of the problem

$$\begin{cases} u''(t) + \sigma u'(t) + g(t, u, \alpha_{n-1}) = 0, \ 0 < t < 1, \\ u(0) - \mu_1 u'(0) = \sum_{i=1}^{m-2} p_i u(\eta_i), \quad u(1) + \mu_2 u'(1) = \sum_{i=1}^{m-2} q_i u(\eta_i) \end{cases}$$

and is given by

$$\alpha_{n}(t) = \frac{-(1 - \sigma\mu_{2})e^{-\sigma} + e^{-\sigma t}}{(1 + \sigma\mu_{1}) - (1 - \sigma\mu_{2})e^{-\sigma}} \left(\sum_{i=1}^{m-2} p_{i}\alpha_{n}(\eta_{i})\right) + \frac{(1 + \sigma\mu_{1}) - e^{-\sigma t}}{(1 + \sigma\mu_{1}) - (1 - \sigma\mu_{2})e^{-\sigma}} \left(\sum_{i=1}^{m-2} q_{i}\alpha_{n}(\eta_{i})\right) + \int_{0}^{1} G(t, s)g(s, \alpha_{n}(s), \alpha_{n-1}(s))ds.$$
(3.6)

Using the fact that [0, 1] is compact and the monotone convergence of the sequence $\{\alpha_n\}$ is pointwise, it follows by the standard arguments (Arzela Ascoli convergence criterion, Dini's theorem [19, 29]) that the convergence of the sequence is uniform. If u(t) is the limit point of the sequence, taking the limit $n \to \infty$ in (3.6), we obtain

$$u(t) = \frac{-(1 - \sigma\mu_2)e^{-\sigma} + e^{-\sigma t}}{(1 + \sigma\mu_1) - (1 - \sigma\mu_2)e^{-\sigma}} (\sum_{i=1}^{m-2} p_i u(\eta_i)) + \frac{(1 + \sigma\mu_1) - e^{-\sigma t}}{(1 + \sigma\mu_1) - (1 - \sigma\mu_2)e^{-\sigma}} (\sum_{i=1}^{m-2} q_i u(\eta_i)) + \int_0^1 G(t, s) f(s, u(s)) ds.$$

Thus, u(t) is a solution of (1.1). Now, we show that the convergence of the sequence is quadratic. For that we set $e_n(t) = (u(t) - \alpha_n(t)) \ge 0, t \in [0, 1]$ so that

$$e_n(0) - \mu_1 e'_n(0) = \sum_{i=1}^{m-2} p_i e_n(\eta_i), \quad e_n(1) + \mu_2 e'_n(1) = \sum_{i=1}^{m-2} q_i e_n(\eta_i).$$

In view of (A_2) and (3.2), it follows by Taylor's theorem that

$$\begin{split} e_n''(t) + \sigma e_n'(t) &= u'' + \sigma u' - (\alpha_n'' + \sigma \alpha_n') = -f(t, u) + g(t, \alpha_n, \alpha_{n-1}) \\ &= -f(t, u) + f(t, \alpha_{n-1}) + F_u(t, \alpha_{n-1})(\alpha_n - \alpha_{n-1}) + \phi(t, \alpha_{n-1}) - \phi(t, \alpha_n) \\ &= -f_u(t, c_1)(u - \alpha_{n-1}) - F_u(t, \alpha_{n-1})(u - \alpha_n) + F_u(t, \alpha_{n-1})(u - \alpha_{n-1}) \\ &- \phi_u(t, c_2)(\alpha_n - \alpha_{n-1}) \\ &= [-f_u(t, c_1) + F_u(t, \alpha_{n-1}) - \phi_u(t, c_2)]e_{n-1} + [-F_u(t, \alpha_{n-1}) + \phi_u(t, c_2)]e_n \\ &= [-F_u(t, c_1) + F_u(t, \alpha_{n-1}) + \phi_u(t, c_1) - \phi_u(t, c_2)]e_{n-1} \\ &+ [-F_u(t, \alpha_{n-1}) + \phi_u(t, c_2)]e_n \\ &\geq [-F_u(t, u) + F_u(t, \alpha_{n-1}) + \phi_u(t, \alpha_{n-1}) - \phi_u(t, \alpha_n)]e_{n-1} \\ &+ [-F_u(t, \alpha_{n-1}) + \phi_u(t, \alpha_{n-1})]e_n \\ &= [-F_{uu}(t, c_3) - \phi_{uu}(t, c_4)]e_{n-1}^2 - f_u(t, \alpha_{n-1})e_n \\ &\geq -[A + B]e_{n-1}^2 \\ &= -M \|e_{n-1}\|^2, \end{split}$$

where $\alpha_{n-1} \leq c_1, c_3 \leq u, \alpha_{n-1} \leq c_2, c_4 \leq \alpha_n, A$ is a bound on $||F_{uu}||, B$ is a bound on $||\phi_{uu}||$ for $t \in (0, 1)$ and M = A + B. Thus, we have

$$e_{n}(t) = \frac{-(1 - \sigma\mu_{2})e^{-\sigma} + e^{-\sigma t}}{(1 + \sigma\mu_{1}) - (1 - \sigma\mu_{2})e^{-\sigma}} \left(\sum_{i=1}^{m-2} p_{i}e_{n}(\eta_{i})\right) \\ + \frac{(1 + \sigma\mu_{1}) - e^{-\sigma t}}{(1 + \sigma\mu_{1}) - (1 - \sigma\mu_{2})e^{-\sigma}} \left(\sum_{i=1}^{m-2} q_{i}e_{n}(\eta_{i})\right) \\ + \int_{0}^{1} G(t,s)[f(s,u(s)) - g(t,\alpha_{n},\alpha_{n-1})]ds \\ \leq \frac{-(1 - \sigma\mu_{2})e^{-\sigma} + e^{-\sigma t}}{(1 + \sigma\mu_{1}) - (1 - \sigma\mu_{2})e^{-\sigma}} \left(\sum_{i=1}^{m-2} p_{i}e_{n}(\eta_{i})\right) \\ + \frac{(1 + \sigma\mu_{1}) - e^{-\sigma t}}{(1 + \sigma\mu_{1}) - (1 - \sigma\mu_{2})e^{-\sigma}} \left(\sum_{i=1}^{m-2} q_{i}e_{n}(\eta_{i})\right) \\ - \int_{0}^{1} G(t,s)[e_{n}''(s) + \sigma e_{n}'(s)]ds \\ \leq \lambda \left(\sum_{i=1}^{m-2} p_{i} + \sum_{i=1}^{m-2} q_{i}\right) \|e_{n}\| + M_{1}\|e_{n-1}\|^{2},$$

$$(3.7)$$

where M_1 provides a bound on $M \int_0^1 G(t,s)$, $\lambda = \max{\{\lambda_1, \lambda_2\}}$, and

$$\left|\frac{-(1-\sigma\mu_2)e^{-\sigma}+e^{-\sigma t}}{(1+\sigma\mu_1)-(1-\sigma\mu_2)e^{-\sigma}}\right| \le \lambda_1, \ \left|\frac{(1+\sigma\mu_1)-e^{-\sigma t}}{(1+\sigma\mu_1)-(1-\sigma\mu_2)e^{-\sigma}}\right| \le \lambda_2$$

on [0, 1]. Taking the maximum over the interval [0, 1] and solving (3.7) algebraically, we obtain

$$||e_n|| \le M_2 ||e_{n-1}||^2,$$

where

$$M_{2} = \left[1 - \lambda \left(\sum_{i=1}^{m-2} p_{i} + \sum_{i=1}^{m-2} q_{i}\right)\right]^{-1},$$

and $||u|| = \{|u(t)| : t \in [0,1]\}$. This establishes the quadratic convergence of the sequence of iterates.

Example. Consider the boundary value problem

$$\begin{cases} u''(t) + \sigma u'(t) - te^{u(t)-1} - 2(u(t)-1) = 0, \ \sigma < 0, \ 0 < t < 1, \\ u(0) - \mu_1 u'(0) = \frac{1}{7}u(\frac{3}{4}) + \frac{1}{9}u(\frac{4}{5}), \qquad u(1) + \mu_2 u'(1) = \frac{1}{3}u(\frac{3}{4}), \end{cases}$$
(3.8)

where $0 \leq \mu_1 \leq 11/20$, $\mu_2 \geq 0$. Let $\alpha(t) = 0$ and $\beta(t) = 1 + t$ be respectively lower and upper solutions of (3.8). Clearly $\alpha(t)$ and $\beta(t)$ are not the solutions of (3.8) and $\alpha(t) < \beta(t), t \in [0, 1]$. Moreover, the assumption (A₂) of Theorem 3.1 is satisfied by choosing $\phi(t, u) = Mu^2$, $M \geq e/2$. Thus, the conclusion of Theorem 3.1 applies to the problem (3.8).

REFERENCES

- G.S. Ladde, V. Lakshmikantham, A.S. Vatsala, Monotone Iterative Techniques for Nonlinear Differential Equations, Pitman, Boston, 1985.
- [2] J.J. Nieto, Y. Jiang, Y. Jurang, Monotone iterative method for functional-differential equations, Nonlinear Anal. 32 (1998), 741–747.
- [3] A.S. Vatsala, J. Yang, Monotone iterative technique for semilinear elliptic systems, Bound. Value Probl. 2 (2005), 93–106.
- [4] Z. Drici, F.A. McRae, J.V. Devi, Monotone iterative technique for periodic boundary value problems with causal operators, *Nonlinear Anal.* 64 (2006), 1271–1277.
- [5] D. Jiang, J.J. Nieto, Wenjie Zuo, On monotone method for first order and second order periodic boundary value problems and periodic solutions of functional differential equations, J. Math. Anal. Appl. 289 (2004), 691–699
- [6] J.J. Nieto, R. Rodriguez-Lopez, Monotone method for first-order functional differential equations, Comput. Math. Appl. 52 (2006), 471–484.
- [7] B. Ahmad, S. Sivasundaram, The monotone iterative technique for impulsive hybrid set valued integro-differential equations, *Nonlinear Anal.* 65 (2006), 2260–2276.
- [8] A. Cabada, J.J. Nieto, Rapid convergence of the iterative technique for first order initial value problems, *Appl. Math. Comput.* 87 (1997), 217–226.
- [9] V. Lakshmikantham, J.J. Nieto, Generalized quasilinearization for nonlinear first order ordinary differential equations, Nonlinear Times & Digest 2 (1995), 1–10.
- [10] R. Bellman and R. Kalaba, Quasilinearization and Nonlinear Boundary Value Problems, Amer. Elsevier, New York, 1965.
- [11] V. Lakshmikantham, A.S. Vatsala, Generalized Quasilinearization for Nonlinear Problems, Mathematics and its Applications 440, Kluwer Academic Publishers, Dordrecht, 1998.

- [12] A. Cabada, J.J. Nieto, Quasilinearization and rate of convergence for higher order nonlinear periodic boundary value problems, J. Optim. Theory Appl. 108 (2001), 97–107.
- [13] B. Ahmad, J.J. Nieto, N. Shahzad, The Bellman-Kalaba-Lakshmikantham quasilinearization method for Neumann problems, J. Math. Anal. Appl. 257 (2001), 356–363.
- [14] B. Ahmad, J.J. Nieto, N. Shahzad, Generalized quasilinearization method for mixed boundary value problems, *Appl. Math. Comput.* 133 (2002), 423–429.
- [15] F.T. Akyildiz, K. Vajravelu, Existence, uniqueness, and quasilinearization results for nonlinear differential equations arising in viscoelastic fluid flow, *Differ. Equ. Nonlinear Mech.* Art. ID 71717 (2006), 9 pp. (electronic).
- [16] B. Ahmad, A quasilinearization method for a class of integro-differential equations with mixed nonlinearities, Nonlinear Anal. Real World Appl. 7 (2006), 997–1004.
- [17] B. Ahmad, J. J. Nieto, Existence and approximation of solutions for a class of nonlinear impulsive functional differential equations with anti-periodic boundary conditions, *Nonlinear Anal.* 69 (2008), 3291-3298.
- [18] V.B. Mandelzweig, F. Tabakin, Quasilinearization approach to nonlinear problems in physics with application to nonlinear ODEs, *Computer Physics Comm.* 141 (2001), 268–281.
- [19] J.J. Nieto, A. Torres, A nonlinear biomathematical model for the study of intracranial aneurysms, J. Neurological Science 177 (2000), 18–23.
- [20] S. Nikolov, S. Stoytchev, A. Torres, J.J. Nieto, Biomathematical modeling and analysis of blood flow in an intracranial aneurysms, *Neurological Research* 25 (2003), 497–504.
- [21] V.A. Ilin, E.I. Moiseev, Nonlocal boundary value problem of the first kind for a Sturm Liouville operator in its differential and finite difference aspects, *Differ. Equ.* 23 (1987), 803–810.
- [22] V.A. Ilin, E.I. Moiseev, Nonlocal boundary value problem of the second kind for a Sturm Liouville operator, *Differ. Equ.* 23 (1987), 979–987.
- [23] C.P. Gupta, Solvability of a three-point nonlinear boundary value problem for a second order ordinary differential equation, J. Math. Anal. Appl. 168 (1992), 540–551.
- [24] C.P. Gupta, A second order m-point boundary value problem at resonance, Nonlinear Anal. 24 (1995), 1483–1489.
- [25] P.W. Eloe, J. Handerson, Positive solutions for higher order ordinary differential equations, Electron. J. Differential Equations 3 (1995), 1–8.
- [26] W.C. Lian, F.H. Wong, C.C. Yeh, On existence of positive solutions of nonlinear second order differential equations, *Proc. Amer. Math. Soc.* **124** (1996), 1111–1126.
- [27] R. Ma, Positive solutions for a nonlinear three-point boundary value problem, *Electron. J. Differential Equations* 34 (1998), 1–8.
- [28] R. Ma, Positive solutions of a nonlinear m-point boundary value problem, Comput. Math. Appl. 42 (2001), 755–765.
- [29] P.W. Eloe, B. Ahmad, Positive solutions of a nonlinear nth order boundary value problem with nonlocal conditions, *Appl. Math. Lett.* 18 (2005), 521–527.
- [30] P. Minghe, S.K. Chang, The generalized quasilinearization method for second order three point boundary value problems, *Nonlinear Anal.* 68 (2008), 2779-2790.
- [31] R. Ma, Multiple positive solutions for nonlinear m-point boundary value problems, Appl. Math. Comput. 148 (2004), 249–262.